Acme Sanitary Ware Co. Ltd.

1/F, Acme Building, 22-28 Nanking Street, Kowloon, Hong Kong
[ ] Tel: 2388 7171 Fax: 2710 8012
Email: acme@acmesanitary.com.hk
Since 1949  website: www.acmesanitary.com.hk

LIXIL LINAX

ITEM
PROJECT REF REV | CopE Q
LOCATION DATE PAGE

SANITARY WARE SPECIFICATION SHEET

Item Descriptions

INAX (Japan) Chrome plated 6LPF automatic
toilet sensor direct flush valve with manual
button & 24 hours auto starts function, 220V AC

Supply

Illustration/ Drawing

G 1" 115~140

160

Dimensions L160 x W160 x H140 mm
Model OKCH-500S
Finish Chrome Plated
Brand INAX (Japan)
Source Acme Sanitary Ware Co. Ltd
Mr. Eric Wong/ Mr. Don Yuen
Contact Tel/Fax (852) 2388-7171/ (852) 2710-8012
E-mail acme@acmesanitary.com.hk -1 |-
Website www.acmesanitary.com.hk ‘
Proudet Code OKCH-5008 4 ____é____ L
Sensor Type Infrared @
Detect Distance 500mm-~B800mm ‘
Presetd T & E 800mm /
Kodak Gray Card 160 ﬁ
Water Supply Prassura 0.1-~0.75Mpa o

(Internal Dimension Should be no less than 25mm)

Inlet Pipe G

Outlat Pipe D31.8 Brass Tube

Flush Delay 5 Seconds Alter Leaving
Environment Temparature 1T - 55T

Waorking Temperature 1T - 45T

Detect Time = 3 Seconds
Flush Time 3~ 105econds o i
Flush Valume EL

Environment protection

With a flush when 24 Hours with no detection

watar supply

Municipal Watar [ Sea Water

1 10~149

160
o

PVC Pipe
{Provided by User}
(111 4]

540~586

Note:

* All information of the above is for the reference only. No prior notice is made if any changes.



mailto:acme@acmesanitary.com.hk
mailto:acme@acmesanitary.com.hk
mailto:acme@acmesanitary.com.hk

No. Part Code Part Des. (EN) Part Des. (CN) Qty.
1 FF1-CN521F00000084 | 15807827520\Escutcheon 1580782750\ SR EF BB A ES P ARER(INAX) 1
2 FF1-CN521SLEBOOO163 |1581184499\Washer 1581184400 BB B E A EESEEHES 1
3 FF1-CN521500000026 |158240439T\SenseFlow Toilet Sensor 158240430TER A ESHEE ( WERKES ) 1
4 FF1-CN521Z00000061 |Holder for Sensor 1580771300 A B SR/ M ERSESER 1
5 FF1-CNB621NO0000167 |The bolt M3 L=6 158183560088 8TM3 (R E HBmmm) 3
6 FF1-CMNG21J00000164 |Button for SenseFlow Sensor Toilet 1581000109 2R\ EEEAEETHES 1
7 FF1-CN521Z200000177 |158160089NAS Toilet Flush Valve Spring 1581600809\ = R A (F5 THARE 2
8 FF1-CN521J00000110 |1580450199\Manual Plastic Housing for Se 1580450109 2R A EEE A EETHEGEEE 1
g FF1-CNG21J00000112 [1580450299\Manual Botton Housing for Sen 1580450200 2 A EEE A EETDEEEEE 1
10 FF1-CNS21NO00000TE | 1580661629\Nut For SenseFlow Toilet FI 1580661600 2 ¥ A ESE A EESHNEESE 1
11 FF1-CNB21NOQD000G0 | 1580600399 Brass Nut M5 1580600399\M55RE 2 1
12 FF1-CN521NO00000B0 |1580662099Mut for SenseFlow Toilet Flus 1580662099 SR A BEEAEETHNEFESRS 1
13 | FF1-CN521J00000087 |Manual Spindle For SenseFlowToilet 1580382800\ H A EEE X EETHEET 1
14 FF1-CN521Z00000372 |158A950300MChain 158A9503001E = A 9% =L S HE A 7k R S48 A950300) 1
15 FF1-CNS21NO0000246 | Screw (A918753) 158A018753\8R4T (A218753) 1
16 FF1-CNB21NO0000242 | ScrewlA18613) 158A018613\8RET(AS18613) 4
17 | FF1-CN521F00000211 |Frame for Euro Sensor Flush Valve 158A022243 B ARSI EEEES 1
18 FF1-CN521G00000230 |Seal Strip 158A911690\E =% A 1% = S HE A 1 B B £H#(AD11699) 1.5
19 FF1-CNS21NO0000169 |The bolt M4 L=2 15818361998 M4 (REImm) 4
20 FF1-CN&21Z00000228 |1582244199\Plaster Guard For SenseFlow T 1582244109 2 E A ESE A EEREEE 1
21 FF1-CN821G00000252 |O-Ring9.25%1.78(A912631)(BLATTNCO GMEH) 158A912631\0¥89 251 78(A912631)(4F) (BLATT 2
22 FF1-CNB521NOCQD000G3 | 1580600995\Screw (316) 1580600005\ EREF S SE A EEPHMAHER(316) 1
23 FF1-CN521J00000148 |1580720395\Cover(316) 1580720305\ ERWHF T B - ES P - F(316) 1
34 FF1-CN521G00000114 |1581212999\0-Ring 747* 72 158121299N0HME 7247 72 1
a5 FF1-CN521G00000125 |1581214599\0-Ring 743*2 158121450N0HME 743*2 1
26 FF1-CNS21NO00000T9  |Mut for Control Valve(316) 158066160\ SR EE S SR A EE P NEEESZ(316) 1
27 FF1-CN621G00000182 |1581264899Gasket for AS Toilet Flush 158126480NAS X EEZ R HBRE L E(EPDM) 1
28 FF1-CN521J00002099 |Piston Body HKSRRE - E A R EEE ( PPS) 1
20 FF1-CN521G00000256 |O-Ring 18.77%1.78 158A912643\0MW 1877178 1
a0 FF1-CN521Z00146995 |HK_FV piston filter screen(316) HH SR EF A AR ( 316 ) 1




No. Part Code Part Des. (EN) Part Des_ (CN) Qty.
21 | FF1-CN521J00000175 |Fixing Plate(316) 1581000195\ SR EE =5 E - ESH WER316) 1
a2 FF1-CNS21G00000051 1581177699\ Flat Washer 39* 22.5*3.5 158117769NF 85 39* 22 5°3.5 1
a3 FF1-CN521J00000033 |Control Valve Base(316) 1580302005\ S EE = B /. (FE P4 M E(316) 1
a4 | FF1-CNB21NO007199S [M4*8 ( 316 ) Pan head screw with cross recess TFEEFEFETMLE (316) 10
35 FF1-CN521G00000283 (O-RING (3.00 X 1.10) for Assy AD09916 158A912722\0% (3.00 X 1.10) 5
ag | FF1-CNB21J0021799F |Flush valve piston seat iR MR E = 1
a7 FF1-CN521G00000129 |15812150990-Ring #35*2 15812150090 E 735*2 1
a8 FF1-CN521G0006599R [O_Ring ©31.47*1.78 OB ©31.47*1.78 1
29 FF1-CN521J00000147 |1580720295\Cover for Stop Valve(316) 1580720205\ E M IR = B E 7~ (F =M 3 - M H(316) 1
40 FF1-CN521G00000115 |O-Ring 8* 2 15812130990HE 8* 2 1
41 | FF1-CN521J00000084 |1580381495\Stem(316) 1580381405\ B A ESE A M BLIT(316) 1
42 FF1-CN821G00000116 |O-Ring 32.99%2.62 1581213199\0&E 732.99°2 62 3

43 1| FF1-CN521J00000062 |1580330895\Stopper(316) 1580330895\ =F A EZEHK B EKE(318) 1

43 2 | FF1-CN521G00000048 |Flat Washer 730% 742%4.3 158117699NF 25 730" 74.2°4.3 1

43 3| FF1-CN521Z00148995 |HK_FVinletfilter(316) PRETEE B Pk R kR ( 316 ) 1

43 4| FF1-CNSZ1NO0DDO130 |Screw 1681741199\ — M =TS8 B it R U B G SR 4R 4T M4X12 1
44 FF1-CN521J0021699P |Flush valve stop valve seat AT R & A PR 1
45 FF1-CN521G0006399R |O_Ring ®28*1.5 OHME 02815 1
46 FF1-CN521G0006499R |Flat washer ©8*03.8%1.5 FEE 08 D3.8"1.5 1
47 FF1-CNS2T1NO0D00268 [Screw (M4X20) 158K618263ERET(MAX20) 4

48 1| FF1-CN521500000067 |158A954481Magnetic valve (AS5448TNU) 158A95448 1\REI RS (A954481NL) 1

48 2| FF1-CN521Z00000049 |158045199%Manifold For Sclenoid(POM) 158451000 SR EFESE A EEREMETEE(POM) 1
49 FF1-CN821G00000111 |15812125990-Ring 24*2 HS7 1581212500\0&E 24*2 H57 1
50 FF1-CN&21Z00000102 [Filter For Solenoid 1581051600 BE RS E A EFERE MR EE 1
51 FF1-CNB21Z00000171 |158156309%Spring Ring 15815623000\ MR E A B A+ 1
52 FF1-CN621G00000152 [0 Ring 16*2 (612145) 158121979910 EHH 16*2 (612145) 1
53 FF1-CN521Z200000103 |Filter For HK Sensor Flush Valv 158105 169NHK AR B E MEF AR EAE 1
54 FF1-CN521J00000311 |Collar 1582221400 2R )\ BEEAEFETHEAER 1
55 FF1-CN521G00000108 |1581210999\0-Ring #6* 71.85 15812109990 E 76" 71.85 2
56 FF1-CN521J00000086 |1580382695\Spindle(316) 158038260\ SR EF =5 E 7 FEIET(316) 1
57 FF1-CN521G00000258 |158A9126450-Ring (03.68*01.78) 158A912645\0 (3. 68"M1.78) 1
58 | FF1-CN521Z00000172 |Diverter Spring for Rain Shower Faucet 158160009 BT RERR®R 1
59 FF1-CN521J00000031 |1580301995\Headwork(316) 1580301905\ SREF BB A FETHMER16) 1
60 FF1-CNS21G00000270 |O-ring 14.00%1.78 (A212692) 158A012692\0& | 14.00%1.78 (A212692) 1
61 FF1-CN521G00000020 [Washer 153 1TV ERAEEEAEETHMES 1
62 FF1-CN521NOCQDO0058 |1580600095\Mut 1580600005\ EREFBE A EETHMESSZ(316) 1
63 FF1-CNS21NO0000017 [AS Toilet Flush Valve Spout Nut 1580482150 =R AEELANRE 1
B FF1-CN521G00000183 |TOILET FLUSH VALLE SPOUT COME GASKET Gas M.1.50.00021 NEER: & B 50C-086 1
65 FF1-CN521NO000002Y [1580486999Nut for Outlet Pipe 1580486000\ SR A BEEF ESHASERES 1
66 | FF1-CN521J00000308 [1582221295\0utiet Bushing(316) 1582221205\ EHEF B E - ESHAEEE316) 1
67 FF1-CNS2T1NO0000029 1580487199 Coupling Nut 158048719 ER A ESE A ESELKEESS 2
g8 FF1-CN521J00000029 |1580301895\Bushing(316) 1580301895\ SR EBH X B IE - F= 1L ME(316) 1
69 FF1-CNS21G00000120 |1581213599\0-Ring 74.94*2 62 1581213599\0EE 740.94*2 62 2
70 FF1-CNS21B00000002 |Body(CAC406C = CSC) 158000000A B REFE SR FEERRERRS 1
71 FF1-CN521J00000310 |1582221395\nlet Bushing (316) 1582221300\ SR EFEDE A FEEAETEE316) 1
72 FF1-CNB21NO00D00028 | 1580487099 Locking Nut for Inlet Pipe 1580487000 ERAEEEAEEEAEESE 1
73 FF1-CNB21Z200000234 |1582250099Box For SenseFlow Toilet Flus 1582250000 2R A EEEAEE2E 1
74 FF1-CN521500000054 |AC Power Supply 1582443509\ T MES ( JMIH ) 1
75 FF1-CN521J00000573 |CELEC Watertight Connector-Male 1581624609 CELEC By iR 1
76 FF1-CN5215S00000051 |[158244279AWire(W/Connector) 158244 270A W R (FET) 1

1

77

FF1-CN521J00000431

158A022270\Key

158A0222T VR A SR S M A RIEE (A022270)




B :
ourgt ¢ (8)inWSD3321/19 T/I(1072/2019)

SRR
Your ref.

Dear Sir,

ASHERTR A 48 B
, 7 Gloucester Road, Wan Chai, Hong Kong

(i3
Tel.

M 28240578

Fax.

14 April 2020

Approval of “INAX” Sensor Flush Valve
(General Acceptance No. C20200243F)

Your letter ref. WRC/2119 dated 7 November 2019 and subsequent
submissions received by this department up to 16 March 2020 refer.

Having considered the test report ref. J24689r3 issued on 10 March 2020 by
Nutek Systems (HK) Ltd., this Authority accepts that the fitting described below
complies with, and its use when correctly installed does not contravene, the

Waterworks Ordinance and Regulations.

Name of Manufacturer: INAX

Country of Origin: the Mainland of China
Brand: INAX

Details of Fitting: 1" Sensor flush valve for WC
Model: OKCH-5008

Body Markings: § INAX

Expiry Date: 23 October 2024

& s

iastenss < ieopECon



2

Proviso:  As the fitting has not been tested for use in contact with water intended for
human consumption, the fitting can only be used in flushing water
plumbing system.

This Authority hereby permits the use of the above fitting in flushing water
plumbing systems subject to full adherence to Waterworks installation requirements. In
particular, you are required to draw your customers’ attention to the following
requirement-

“Installation of filter before flushing valve is required. Without the filter, the
flushing valve is liable to leak. The installed filter need frequent inspection
and cleaning to maintain flushing supply. Normally only public toilets with
good management system for maintenance would be considered.”

“A stop cock or gate valve must be installed at the upstream of the fitting for
manual isolation of water supply.”

“The design flushing volume of the flushing valve should be compatible with
the toilet bowl to ensure that effective clearance can be achieved by a single
flush of water.”

“Flushing valve should be used within the range of working pressures
specified by the manufacturer.” AND

“Installation of electronic opening and closing sanitary tapware should also
comply with the requirements of Electrical & Mechanical Services
Department.”

A condition of this acceptance is that the fitting to be installed shall be replicas
of the sample as certified by the testing agent mentioned above and without
modifications. This acceptance may be withdrawn at any time if the standard of the
fitting installed fails to meet that of the approved sample or if the fitting is found to be
unsuitable for use in flushing water plumbing systems.

For the use of the fitting in any project, the General Acceptance Number of
this letter must be quoted as a means of identification of acceptance of the fitting by this
Authority.

General Acceptance No. C20200243F



3

Should you have any enquiries, please contact our Engineer Mr. Terry KUNG
at tel. no. 3583 4086.

Yours faithfully,

W~

(CHAN Chung-kun)
for Director of Water Supplies

Encl.

c.C. WSD 3321/1/82 ] - without catalogue
ME/MC ] - with soft copy only

General Acceptance No. C20200243F



